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Universal Turing Machine (UTM)

A turing machine which is equivalent to all other turing machines that we
have. Basically, we wish to design a Turing Machine that accepts a Turing
Machine with some input w then this Turing Machine recognizes that
whether it will halt & accept or halt & reject or loop. That is, we wish to
design Turing Machine that works as a recognizer.

Language:
A= {<M,w >|Mis aTuring Machine and M accepts w}

Is Turing recogni zer.

M Accept
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So, we can say UTM seems as acceptability of a Turing Machine.
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